
 
GOING VIRAL 

SAMPLE PROBLEMS 

One- and Two-Step Equations 
● 𝑚𝑚 + 12 = 10 
● −2 = 𝑔𝑔 − 9 
● 𝑎𝑎

9
= −4 

● 2
3
𝑎𝑎 = 10 

● −1
2
𝑚𝑚 = −9 

● 6𝑐𝑐 + 8 = 50 
● 7 − 3𝑥𝑥 = 34 
● 11 = 𝑥𝑥

−5
+ 8 

 
Multi-Step Equations 

● 9𝑥𝑥 + 1 − 7𝑥𝑥 − 5 = −20 
● 4𝑚𝑚 − 5(3𝑚𝑚 + 10) = 126 
● −3(𝑘𝑘 − 8) − (𝑘𝑘 + 5) = 23 
● 𝑥𝑥 − 3(2𝑥𝑥 − 7) = 76 
● 2(5𝑥𝑥 + 3) − 4(7𝑥𝑥 + 1) = −88 

 
Absolute Value 

● |𝑥𝑥| = 2 
● |5𝑧𝑧| = 40 
● |𝑑𝑑 + 1| = 8 
● |−2𝑣𝑣 − 5| = 17 
● |𝑥𝑥| + 2 = 12 
● 6|𝑥𝑥| = 24 
● −2|𝑧𝑧 + 3| = −14 
● 5|4𝑟𝑟 − 4| − 9 = 31 

 
Inequalities 

● 3𝑥𝑥 + 2 < −4 
● 3 + 𝑥𝑥

7
≥ 1 

● −1
3
𝑥𝑥 + 4 > 11 

● 4(𝑥𝑥 + 3) > −24 
● −8(𝑥𝑥 − 1) − 𝑥𝑥 ≤ −28 
● 𝑥𝑥 − 3(𝑥𝑥 + 2) > 4 
● 7𝑥𝑥 − 2(𝑥𝑥 − 4) ≤ −2 
● −39 ≤ 5𝑥𝑥 − 9 ≤ 16 
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